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Date: - 08/01/19
Answer to this paper mus{ be written on the paper pr ovzded separately.

You will not be allowed 1o write duri gihe, f rst 15 minutes.
This time is to be spent in readj zjﬁ:e queglon paper. .-
The time given at the head of this paper is e time allowed for writing answers.
This Paper is dividedigito two .Secnons
Attempt all question from Section A Jour gues t:o I
The mtenc.ed marks._for questrar_zsﬁ parts d :

Q1 F—_

- A Namethe following: | | L gy, (5]
@ A plant with sunken stomata - == .
\)7{ The prchumdn a&?«:},}@i ; Y , 'I
it sct of menstruation#in yo ’: crk 522: AR
he onsct of men 101 m@? ung | = é‘i%
\/)?ﬂu: bloo J,,,psscl whicl g Supp 'fé,, J,blood to the lxvcr
‘ The 4 c? ff« ligle, which in the reecncc of a conlrast; ll I
7 D(pjl} >-r4- p mga eleis not. expressed
B Explain the foll' 5]
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C  Define the following terms: Wm0 @
- 2 - ‘ 2 Sty i S i ,[5] ‘
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D Siate whether thc followmg shtements are true or false. Iffalse rcwnte he;é"orrect :

stasemient by changing the first or last word only.
A Tlie spindle fibres disg ippear during metaphase.
B B Aﬁditorx'r:riprifc is a mixed nerve. - | -
&)  The plant-used for onmulatmg the lawc nF genstics is Ivumosa pudxcé. : ‘
-4 /T he process by which the leavcs ofa stra wberrv plant lose water droplet is called b]eedm g
ey d Comrac’uon of the erector musclcs of skm 1s brou ght by the para sympathetlc nervous
system _ - ' '
- E .. Choose the corrcct apswer from cach of thc fourﬁéap; on ..ggven bt;,low .. SRR Y '..l

o A7
. a) _.Whlch one of thc followmg is non~bxodegradab1@.-? S '," ?_:;i | ‘_- R

A 11) ffcmt pt_:el_s." .

i) paper <
1V) | bark dftﬁé tree " L
". -bj Wlltmg ‘of plant occurs when

- i) Phiotmisblocked
n) Xylem is blocked

_/.’,

¢'~ pr

- xv) Few root_sfare Pevea;cc; o

@

‘/{f The AV valves opcn \
- i1). The AV valves close *

iii) The semilunar valves ¢ open ~
’V) Thc scmxlunar va]ves close 2
e) SCCd dormancy IS mduced by ég,,.:;f .
. L . a_;:;,—_
: 1) Ethylcnc
ABA e =
_ nl) Glbbere]_hn
iy Auxin e S
. F vaen beeow are 1he sets ofﬁvc terms Wnte ach m_m in logm! scquence | |
‘One example is done. for youu. ) ‘ g

Cortical ¢ells, root hair, xylem, ,sqﬂ water, endodermxs (absoxptlon of water by the\plants)

Ans; soil water, 1oothair, cortical cells, endodermis, xylem
Acuve mnnumty, antlgen antibody, bactenzbl ymphocytcs .

hd T

| Scanned by CamScanner



\}9/ Sponov cel]s upper ep]dermxs SIOma, palisade tissue, substomatal space

)/ Intestmc hver mteshnal artery, hepahc vein, hE)pat]c portal vein o
WlJoo
. - i Nﬂlbcﬁnmﬂb,da hgo,‘j QlJnu!d[}!H 5,

)"Qr\
\;ﬁ’ PCT, ascendmg limb of _loop of Henle collectmg tubule, descendmg lxmb of loop of ﬂ{ ﬁ;;j&;
Henle, collectmg duct. ..o Al e |

lelerentlate between'

5]

Near wsxon and dlstant VlS]On (Shape of the eye le ns) L

lfq?
_Up{ Co

‘ Yy Gcnotype and phcnotype (dcﬂne)

;0 Gwen below is 2 d‘agr’ax:i :éepi‘éﬁtih"
carefully and answer the queshonS'

Jy Isita plant ce]l ot amma] cell?. 6‘ _‘
._ Pl Identlfy thd _, '
| ‘Name lhe parts labcllcd A and B
. r/zr( Name the stage that precedcs the on !

l/)/ How will y you dnffcrcnhatc m1t051s ,
2 the daughtcr sells? -
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_SECT]QN B (40 MARKS) .
~(Attempt any four questions) -
.
A
i ,' tcrms (Do nol copy [he tablc)

Completn the followmg table by ﬁllmg m the blanks for 1. to 10 with. appropr:ate | , [5]
_ Sr.No. . Ghnd Surplu;g B I Hunction =~

- . ) :Pd’steﬁdr?ituitaxy

if) S \(?/ = = %%“ | Promotes glucosc utlhza;%n by
| o . e R bodvcel]s o ‘ﬁ

' B ' i N b ' . - T e . -
- A S W : . S| ,._._,._»:%__..._ e, - - .

e-'

1 cortex.

‘ Stimulates sympathchc ncrvous
system.

B

thc Qphﬂlalmolngmt who told hl' i

S s "‘ Bolay el \ l n)(u, )
’ Th.u{i.,f \_n ) .«.u_q.l\'mtl (L),
¢ “umbdl-40010 -/

Mob 9821263050,

Which defe-‘?“ i?_Maya’s grandfather S\iffe_ring--fgom? What could be the;cause af it.

. b)  How can this defect be corrected? Draw the correction to this defect.
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r7)/ Namc the condition in which a pcrson is unablc {0 see in dlm light or during, the night,

State the cause of it.
Q3 .‘ .
A A healt‘ly sma]l Dlant was kepl ina test tube contammg walcr whcre the root porion was (3]

| ‘fdzpped in water. Few drOps of oil were put on the-upper surhcc of water. Study the
: followmg chagram and answer the followmg questions:
3 balsany plant . ﬁi@% |

a)
b
9

Q%‘wo test tubes after about 2 3 days? |

d) ‘.Gwe reason ‘LA_ any change oﬁssrved as answcrcd in (m) above,

‘“%)_ K ,Why has the test -, en taken in the cxpcnmcnt?
B 15
a)
b)
. '-.,
. V)Thc ﬂu1d prcscnt in the mlddlc canal of cochlea ‘ | ‘ _—
_w)Whlch part of lhe ear is. rcspOnslbl&for 1ransmlmng jmpulses to thé brain? ki8S ,4 K
A i By~ [}
Q4 L T R L e A KR g “"«9.]‘1 | v
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' \/t} The process by which ooy es Squeez

o |

- B . ,ﬂuﬂ:;?““"“ ld"_,_,..l!’
/ - . Mol 9871263050,

A [5]
& D\
: @ - Name the condition which occurs duc to : o the &
"~ blockage in the coronary artery. S : o Ao
o) -\-wrucntypcor biood.does-part-3 camy?.. . R T T g i Q‘}:
i fference b ‘6 andg \*‘i‘é i (O @
- d) ~ Mention one structural difference between part ‘6’ and%8’. ST (AN
) AR .. P ’ \gsé‘fﬁ (\"C"» o
B Give the biological or techmcal terms of the followmg W Ch e f‘?r[S}[.s\
) F . A R :&:, & 33 C o 3 S
@)  Protein found inthe blood which act against: antigeni3 X O LW ey
%\ﬂ .‘4"- h, > “b\' ‘g?
(}75/ Thin wal}’&iac of skin that s the testes.. é\}- O AT & ‘2’{’/
g 3 L il ‘*:-Tl‘ N N
Structure wluch connects the placcma thh the foetus ‘TG?Q {\& @ Ny

.w&) N

Repeatcd units of DNA molc&ite S , '
| Method of contraceptxon m whie : € sperm gluct is cut and ligated. -
e B

/ Pigment pm\ndmg colour 1o urin
- QYS

-

é\

The pcrmancm stoppage of the menstia cycle in fcmalcs

3 ji/ e

seeds (AARR) and Tcrmmal ﬂowers wﬂh wnnkh.d seeds (dﬂﬂ) Sl“d)' the same and
answer the followmD questions: ‘

@/ Give the phcnotypc and genotype of Fl progeny.

'\j))ﬂ Mention the possnble combination of the, oamt.u:s that can be obl‘llnCd from F 1 hybnd
plant.

¢ \if/ Work out the progeny of the F2 generation with the help of Punnett Square

Give the Phcnotype of the F2 proocny produccd by the seli-pallination of I ] progcny
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What will happen in the following cases. Jistify your answer. - [5]
1)/ At Vaseline is apphied on thc\an used for Ganong’s photometer.
h)/ Il here is deficiency of calcium ibns in a person’s blooJ
Y I green light is used for photosynthesis.

\/

O Draw aneat labelled diagram of the structure of the human ovum.

Q.6
A Give reasons: (5]
a)  Uscof CFC is banned in many countries,
D) arbon monoxide is highly dangcrous whcn mh
¢) Smm, woan have facial hair like beard e
d)  When an ovum gets fcmhzcd, theg ! ycle stops poranl
¢)  There is frequent urination in winter than i'%n%mcr - _' Eg
B Mention the exact location and funé-trérl—(;flhc follo\gmg S - Aéf’ . 5]
N <7
a) Prostate pland Y c T
b))  Islets of LangerhayfG s o
¢)  Myelin sheath 47 -v SRR ;
d)  Eustachiang !ﬁrbc R,
¢)  Semi-cigdilor canals Ly,
- ﬁf‘m‘%? b
Q1 o ¥ - .
\/ . .
A the qiagram b . 1mp ant part ofa structure found 1n thc kidnc'y 5]
D, . L , . .
2
vl
3 ? /"‘S']")
« L, @ Lg!
4 &,
3 - ‘-
. . Q-
‘ Rt o £

o el ] . 5 Sl &
\/41( btalc the Jocation of the structure mentloncd above in lhc k\dneﬂ' s 5

\l)/ adbCl the parts marked 1 to 4. TR

g NdmL the fluid entering the: part Iabcllcd i)’ and slate lht: consmuents of i,

\ gy - llOW dOLs hydroslahc pressure develop in the glomerulus‘7 ' : L ah LS
‘ltu@ﬁ’s‘&WWsnaom@mearms e R T e,

e
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B Answer the followmg quesnons a - | ,- . - - - o | " ‘,'[5]'
va{ Mentmn any two charactenans of the Cro-Ma,cmon man. T | :
B Writeany two j-‘r m ons-for ¢ t_.:e popu‘a*o" explosion in the world. -
" \,2’,( Wﬁ te the flames of four mtrogenous bases i ina DNA fﬁolequle- |
\/ ‘What 18 meam by sex hnked mhentance" L " -

State any two Ob] ectwes of Swachh Bharat Ablnyaan

Scanned by CamScanner



